Course Code : 1BBA 6
Course: Title: Business Mathematics
Credit: 3
Last Date of Submission : April 30 ( for January Session)
October 31, ( for July session )

Max.Marks:-30
Min.Marks:- 10

Note:-Attempt all Questions.

1.

Find the points of inflexion of the function y = §x3 - gxz + 6x — 12
Wy =zx% = 2x? + 6x — 12 B AR oRad g s B

(@) Write the following in logarithm form :

fFeforRaa &1 Sgeores & wu | faRag -
(i) 73 =343
(i) 27% = 243
(iiiy a2 =y
(b) Find the value of:
A §adRl —
(i) 1.0457
(i) 1.00487
(i) || ——
3
(@) if afc A = 2 gl ar find AA’ @21 and AA’ SITd BIRY |
2
0 O 1
(b) ifacA=12 -3 0 ] find A3 + 442 — A &1 A9 g7 |
1 1 -1
1

2 3

af ifa=[1, 77 g],B=[4 5] & @ find AB sTd #IRTY e fwrsd fr
2 1

AB % BA



Solve the following linear programming problem by graphic method:-

fereforlRad YT a9 B I fAafd 9§ 8o Iy |
JTfHad B Maximize
Z =5x1 + 7x,

STafd such that x; + x, < 4
3x; + 8x, < 24
10x; + 7x, < 35

d2ar and X1,X2 >0

Solve the following Linear programming problem by simplex method

f=forlRaa Y gshae o1 Ry AfY 9 g8 difvte—
JffhaH HIFVTU Maximize
Z = 4x1 + 5x2

S such that 2x; + 3x, < 24

2x, +x, <16

dar and x;, x, =0

(@ In What time will the simple interest on Rs.500 at 6% be equal to the intrest on Rs
540 for 8 years at 5% ?

I8 IHI 10 HINTT RORT ARIRUT 16T 5009, TR 6% &1 &) SadT 8l sl il
fST=T fb 540 ®. IR 8 99 H 5% =T BT X I fHerar 87

(b) A what rate of simple intrest will Rs.800 amount to Rs. 836 in 9 month?
foha= % AT BT TR 800%. 9 HIE H 836 ®.81 SIRI?

2

Find the compound interest on Rs.1200@ 8% annually for two year’s if
1200 %. BT 8% P Ahdfeg TSl Bl &R I 2 Y Bl shdlg TSl FA DY I
(i) The interest is calculated annually
e =TT BT STO 1f¥eh BT &7 |
(if) The interest is calculated Half yearly.

Ife TS BT MU Tg—a1ied Iam & |




(iii) The interest is calculated quarterly.

Ife TS BT JFTOH FHRID BT B |






